' old at one
comPUters o
mber of tablet be modeled by the

18.  The graphs of f(x) and g(x) are shown on the : 19, Thenu
: eks ca .
coordinate grid below. store over X Vie] et 2. Over that time, the
y : : function S(fxt)h;Se computers that arebrettt:] rned
5 . . 2 n e
1 : nurEL c;he are defectiVé is give ;/ -
N T [ T because Y‘ ax— 2. Which of the following
oo : function r(X.) = " ber of computers that
\[*[1/fw functions gives the NUMP=" tore Over X weekg
\ g(x; : Id and not retur ned by this st ¥
\l/ : SO
' : =17x
3 A 17x because s + =1
X : 9 =11x+4

: _ B. 1ix+ 4, because S(X) —r(

C. 422 — 22x— 4, because
s - rl) = 42 = 22X =4

_ lax+
D. 14xt2 pecausesi) + ¥ = 32
s : ° 3x—2

Which of the following describes the relationship
between f(x) and g(x)?

20. A human heart beats atarate of about 70 beats
: per minute. Therefore, the total number of beats
A 90 =310 | in m minutes can be represented by the function
: f(m) = 70m. Which of the following could not

B. gl=f (3X) be a value for m?

C. g ==fx : ‘ A. zero

1

3

D. g = f( ) ’ - o B. negative numbers
C. prime numbers

D. numbers greater than 70



